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Solve the following word problems.

Advanced Addition - Word Problems

Jill spots 3 butterflies in her garden. Jill's sister spots another 2 
butterflies. How many butterflies did they both spot in all?

_________ butterflies

Tyler and Cole bought some gifts for Christmas. Tyler bought 2 gifts and 
Cole bought 4 gifts. How many gifts did they both buy in all?

_________ gifts

Caroline has 2 teddy bears. Lily has 8 teddy bears. How many teddy bears 
do they both have in all?

_________ teddy bears

Ashton has 14 balls. Calvin has 6 balls. How many balls do they both have 
in all?

_________ balls


